
1.�A´n�éÜ
,=A2 = In,y²:n− tr(A)�óê, ¿�tr(A) = n�¿�^�´A = In.

y² e¡�Ñ|^ØÓ�£�ü«y²

y²1: Äk·�|^A���Ñ��{ü�y².

  duéÜÝ
�A���½�1½ö−1,
tr(A)�¤kA���Ú,l
n− tr(A) ≡ 2n(mod2),l


n− tr(A)�óê.

  
�tr(A) = n�,¤kA��þ�1.l
vk−1ù�A��,u´A+I�_.u´du(A+I)(A−
I) = 0⇒ A− I = 0§l
A = I,
�A = I�w,tr(A) = n

y²2: e¡Ø|^A���Ñ��y²µ

·����q�Ý
äk�Ó�,,Ïd·��I�é���A�q�Ý
,¦�·�N´?ØA�

,,@o��¯KÒYá�Ñ
.
·����qÝ
Ò´Ó���5C�3ØÓÄe�Ý
L«,Ï

d,·��¯K=z�éu��éÜC�Té�|Ä,¦�T3ù|Äe�Ý
L«¦þ{ü.e¡�Ñ

���y².

Äk·�kXeÙ��Ún

Ún1 �V´��n��5�m,T´Vþ���éÜC�.K

V = Ker(T − I)⊕Ker(T + I)
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(T − I)α ∈ Ker(T + I).l
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